HEAE &0 45 A E

[TM./ART. 2127149
AE M3 216-023-4DS

Falo AHSARNE Fo) 2 Ha 2

L *?ﬂ

A} Pacific Casual L.L.C.

T4 1060 Avenida Acaso, Camarillo, CA 93012

TEL: 1-888 -445-4533 (G o, L& 2=0], 2721 #<)

(d~7, 24 7A] 30 ~2F 4A] 30 (BfH & A, vl =2 sHybohrt &)
ol : CustomerService@PacificCasual.com

GO ofslol Rt AHE HE, 44 0% ST g,



==

T AL B TR O] e 2 e 4
T L R e, 2 B e 6
=y

T

73
E7hetel 1AL £& B £ gomw PFetelu Wi £ WA vhAe

A1
8 Z9 Ao P Zeo| S Hd3] YA B of ah
U]l—‘é'_ oé

=z
stol ® s oF ST, B2/ %% gEgtold 715l

ey
LA TR =R AFstAL AR w2 a5 dd] HeAle. AvkAl, AlAl B A7)
T Al = AFESEA] PR A
=g 2 fAa T Aol el FRE AN L. )] W] 1) S wjEeH] e
el date] o wEEW Zeq) Fusl &8 5 glguith wekaly) el MEA AHsa 9
A=A 71 A 2

Zo.

247 1271950}
Z2etold 3¢ 2
2910 el delz
#8AE Q7balo FuiTh,

. X5 Lgyats it
EEE N
SIRER

Sunbrella® I BB S F7]4 o7 AErgof ) AAE ol 38 H) 9} 1A 23 B2
AR S, & A7) S AR Bl 2 3.8L(1AY) T 236mLAT)e] FE A
59mLA/DA ] =3k vl &N o2 Al star A s A T AFS AAT F AA A7 HAIL

22 2] 2@alof G 29 o] BE

o
ko
i
T
o




WE 33 5%
T\ T AA HE (M6x20) 8
2))) D)) BB =
@.’ s AA — BB BE (M6x40) 4
@ cC &2 oA 12
cC
@ — DD DD 9}A 12
EE 67} A 1

== (817
‘ A8 £42 WA A9 2 A 7HAE ALgste] TS AN L.

#4

5= 53 T S s T
A g o] 5 1 #1 ANE FH 5
B gl o] & v} 4 #2 o] A 2
C 2z At 1 #3 3918 a3 ko] A 3
D Ayl QEZ BB 1 #4 W) 7] F4 2
E v 9% B 1 #5 74 AW 2
F g Zetoly 2 #6 74 AW 1




o B skar vjEEk iyl HolE AR(A)S Fo FoHAL.

o HelE BB E HIolE el Bt A L.

o A 9 (CO), 9 (DD), BEE(AAR Hol& tel & "ol & Al
A A L. o] W, EO0 2 HE(AA)E =<5k ojoF Yt

0 Az A0S AR FFaL HolE thE(B)ell HEA AL

o A 9 (CO), 9HA(DD), EE(BB)E A&-3te] 212 Auks H ol & thelo|
FASAA 2. BEEVF BT A E oW S (EE)R ¢8| Zo] AL

P AA
‘!I:Q e

.‘a C

i




i
N

—_—

o

ojy

R

—
o

ﬁo
ﬁo

]

i
Xir
0 ,mﬁ
Y
£ el <
oy T o
P
HE%%
o M T
% ¥ %2
K B B I
= A A -

o 0O




e

A A w1

o vt gl Zetol ol A HZHE A=A L.

0 R A L EEkol =8 sl T rE e AL

#3 # ”

=
dFeels RAZAS o §3ko]

ﬁ AANA AZo] L9 FF G A AE B0 2 743 Hel)o] shahA %2
= AN A FAO] FAHES AN G. 22 Fdo A= AF
A A ARE Ro|nz o g =

3
ol

e
ue}

4& 53 AT AL AR FA T

=
A=
[

F A QA8 fATY T el B E 21 492 A ¥

= 25
o] 7t

Y
offt
)
i
B
) o
o0
o

2
Rolo g HEdE B4 d20lUE AHE3HY 37} 02

T8
2 g 2ol qRaE A2ded A7 deu,
AME W $2 02, 59 5 Fod ke A2 el AL A0 B4 A
1 3 .







4 PIECE WOVEN SEATING SET

ITM. / ART. 2127149
MODEL # 216-023-4DS

IMPORTANT, RETAIN FOR FUTURE REFERENCE:
READ CAREFULLY!

ASSEMBLY AND USE INSTRUCTIONS

Supplier: Pacific Casual L.L.C.

Address: 1060 Avenida Acaso, Camarillo, CA 93012

TEL: 1-888-445-4533 (English, French and Spanish is offered.)
(7:30am to 4:30pm PST, Monday to Friday, for US and Canada only)
Email: CustomerService@PacificCasual.com

Conditions for use of the product:
This item is intended for outdoor domestic use only. Not for commercial use.

Made in China



Contents ‘

Warning and Cautions.........cun s 2 ASSEMDIY....eeeeeeereseensnsnssssssass esessssssssssssssssnsssssssssans 4
Care and Maintenance - i 2 (071 =1 1 Lo o TR 6
o= 1 g 3

Warning and Cautions ‘

WARNING:
Do not put hands inside of recliner at any time to avoid pinching fingers or injury to hands.

stored during freezing temperatures. Rain / snow /ice will influence the functionality of the reclining
mechanism.

IMPORTANT: The recliners must be properly covered or stored during heavy rain and completely

Care and Maintenance

FRAME
To clean frame, use mild soap and water. Do not use abrasive materials, cleaners or products containing bleach. Rinse

with clean water and dry thoroughly.

To maintain frame, clean thoroughly and let it dry. Drain any water that may have collected inside the frame. Water
not drained and exposed to freezing temperatures may cause damage to the frame tubing. Prior to storing, be sure to
clean and thoroughly dry.

IMPORTANT:

You must lubricate

the key points (e) of

the reclining mechanism
with silicon at least every
12 months.

RECLINING MECHANISM
FABRIC
Sunbrella® fabric should be cleaned regularly. Brush off any loose dirt and wash with a mild soap and lukewarm water

solution. For stubborn stains and mildew, wash with a solution of 236 mL / 1 cup of bleach and 59 mL / 1/4 cup of
mild soap per 3.8 L /1 gallon of water. Rinse thoroughly to remove soap. Allow fabric to air dry.

Use at least 2 people to assemble. Please lay out all parts prior to assembly to verify all parts are included.
2




Parts

HARDWARE INCLUDED

Part Description Quantity
¥ > AA | Bolt (M6x20 8
/2200 pa DODID) BB olt (M6x20)
7 BB | Bolt (M6x40) s
(: ;) CC Lock washer 12
@——/ cC DD
DD Washer 12
|| _EE EE Hex wrench 1

IMPORTANT:
To avoid any damage to weaves please use scissors instead of knife to cut packaging materials.

PACKAGE CONTENTS

#3 #1 #

4
1
LT O
D E A

C
Part Description Quantity Part Description Quantity
A Table top 1 # Seat cushion 5
B Table leg 4 #2 Back cushion 2
Cc Woven shelf 1 #3 Back cushion of the 3-seat sofa 3
D Right sofa section 1 #4 Toss pillow 2
E Left sofa section 1 #5 Furniture cover 2
F | Recliner 2 #6 Furniture cover 1




Assembly

1 Assembling the table top

o Place the table top (A) upside down on a flat, smooth surface.
Align table legs (B) to the table top.
Secure the table legs onto the table top with lock washers (CC) , washers (DD) and bolts (AA).
LOOSELY TIGHTEN BOLTS (AA) BY HANDS ONLY.
Hold the woven shelf (C) upside down and align it to table legs (B).
Attach the woven shelf to table legs with lock washers (CC) , washers (DD) and bolts (BB).
Fully tighten all the bolts using hex wrench (EE) once all of them are in position.




Assembly

3 Connecting the right sofa section to the left sofa section

0 Place the left sofa section (E) and the right sofa section (D) side by side on a flat, smooth surface.

Align the left sofa section to the right sofa section.
Lift the right sofa section one or two inches higher. With another person’s assistance slide the hinges on

right sofa section (D) into the hinges on the the left sofa section (E) until they are locked firmly in place.




Assembly

4 Laying out all units

o Place cushions and pillows on the sofa and recliners.
o Level foot glides to stabilize each unit if necessary.

Operation

#3

5 Operating the recliners

NOTE:

The recliner uses center of gravity to hold in second position. When in first position with leg rest
up, you will want to make sure your body weight is in the center of frame (furthest to back of seat
at backrest) then push back and allow center of gravity to hold in second position. This is important
for smaller framed persons as body weight in center of frame is how the backrest will hold in place.

IMPORTANT:

There is a reclining mechanism inside each recliner.

Using the recliner on hard surface like cement floor, wooden deck, tiles and etc. is recommended.
Using the recliner on soft surface like grass, leaves or sand will possibly fail the mechanism.




Operation

6 Covering furnitures when not in use

o Stack furnitures as shown below. Cover them with respective furniture cover and put them in a dry, shady
place.




Distributed by:
Costco Wholesale Corporation
P.O. Box 34535
Seattle, WA 98124-1535
USA
1-800-774-2678
WWW.costco.com

Costco Wholesale UK Ltd /
Costco Online UK Ltd
Hartspring Lane
Watford, Herts
WD25 8JS
United Kingdom
01923 213113
WWW.Cc0stco.co.uk

Costco Wholesale Japan Ltd.

2 Kakuchi, 2 Gaiku, Kaneda-Nishi
361 Urikura, Kisarazu shi
Chiba, 292-0007 Japan

0570-200-800
WWW.COStC0.Co.jp

Costco Wholesale Canada Ltd.*
415 W. Hunt Club Road
Ottawa, Ontario
K2E 1C5, Canada
1-800-463-3783
WWW.CO0stco.ca
* faisant affaire au Québec sous
le nom les Entrepbts Costco

Costco Wholesale Spain S.L.U.
Poligono Empresarial Los Gavilanes
C/ Agustin de Betancourt, 17
28906 Getafe (Madrid) Espana
NIF: B86509460
900 111 155
WWW.COSstco.es

Costco Wholesale Korea, Ltd.
40, lljik-ro
Gwangmyeong-si
Gyeonggi-do, 14347, Korea
1899-9900
WWW.C0stc0.co.kr

Importado por:
Importadora Primex S.A. de C.V.
Blvd. Magnocentro No. 4
San Fernando La Herradura
Huixquilucan, Estado de México
C.P. 52765
RFC: IPR-930907-S70
(65)-5246-5500
www.costco.com.mx

Costco Wholesale Iceland ehf.
Kauptun 3-7, 210 Gardabaer
lceland
www.costco.is

Costco Wholesale New Zealand Limited
2 Gunton Drive
Westgate
Auckland 0814
New Zealand
WWW.COStco.co.nz

Costco Wholesale Australia Pty Ltd
17-21 Parramatta Road
Lidcombe NSW 2141
Australia
Www.costco.com.au

Costco France
1 avenue de Bréhat
91140 Villebon-sur-Yvette
France
01804501 10
www.costco.fr

Costco (China) Investment Co., Ltd.
Room 1003, Block 2, 2388 Xiupu Road,
Pudong New Area, Shanghai
China 201315
+86-21-6257-7065

Costco Wholesale Sweden AB
Box 614
114 11 Stockholm
Sweden
WWW.COStCco.se

| Z=+. ==/ MADE IN CHINA





